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A 

1    potentially  

2    vastly 

3    expansion  

4    dissimilar  

5    accessible  

6    incompatible  

B 

1    vital  

2    pinpoint  

3    Ultimately  

4    significant  

5    integrates  

6    appealing  

C 

1    enormous  

2    vast 

3    vast 

4    vast  

5    enormous  

6    enormous  

D 

2    It was a great tragedy for them to lose their only son. 
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3    It is necessary for you to pinpoint... 

4    It is important for a scientist to generate... 

5    It is embarrassing for me to speak in public.    

6    It won’t be easy for us to get him to come... 

E 

2    It is wrong of them to give their children... 

3    It was very generous of Rebecca to give a $100… 

4    It was wise of Mr. Smith to expand his… 

5    It was very kind of you to visit me… 

6    It was very intelligent of the little girl to ask… 

F 

2    It is unfortunate that Emma hasn’t… 

3    It is a fact that smoking can… 

4    It is a pity that some women do not… 

5    It is a shame that Irene failed… 

6    It is true that English is the language… 

G 

1    that  

2    …slipped.. 

3    …but it is not… 

4     

5     

6     

7     
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8    …we are afraid. It 

9     
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